	Vendor Terms	Atlanta Recycling Solutions Net 30	CDR Global Inc Net 30	Etowah Computer Sales, Inc. Net 30	Imaan International Inc. Net 30	Novus Solutions LLC Net 30	Premier Surplus, Inc Net 30	Secure Recycling Net 15 days	TBF Computing, Inc. Net 45	Vantage Point ITAD Net 30
			Revenue to CCSD per	Revenue to CCSD	Revenue to CCSD	Revenue to CCSD per	Revenue to CCSD	Revenue to CCSD per	Revenue to CCSD	Revenue to CCSD
Item #	Description of Available Surplus Goods	Revenue to CCSD per unit	unit .	per unit	per unit	unit .	per unit	unit .	per unit	per unit
1	Computer Monitor, CRT	\$11.50 Charge to CCSD	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	-\$20.00	\$0.00
2	Computer Monitor, LCD	\$.75 Payment to CCSD	\$.00 to \$25.00	\$1.00	\$3.00	\$2.00	\$4.50	\$4.50	\$2.00	\$7.00
3	Copier- Hard Drive Removal and Sanitize	\$0 Payment or Charge to CCSD	\$.00 to \$500.00	\$0.00	\$1.00	\$25.00	\$20.00	\$75.00	-\$20.00	\$75.00
4	Desktop Computer, Damaged	\$2.00 Payment to CCSD	\$.00 to \$20.00	\$1.00	\$5.00	\$2.00	\$8.50	\$12.00	\$7.00	\$5.00
5	Desktop Computer, Missing Internal Parts	\$2.00 Payment to CCSD	\$.50 to \$100.00	\$1.00	\$7.00	\$2.00	\$8.50	\$12.00	\$7.00	\$5.00
6	Desktop Computer, Operational	\$3.00 Payment to CCSD	\$3.00 to \$250.00	\$4.00	\$14.00	\$13.50	Model 790- \$22.05	\$18.25	\$16.00	\$17.00
7	Desktop Computer, Operational, Blemishes	\$3.00 Payment to CCSD	\$2.00 to \$150.00	\$2.00	\$14.00	\$13.50	Model 755 - \$9.00 Model 780 = \$10.00 Model 790- \$22.05	\$18.25	\$6.00	\$17.00
8	Interactive Devices – Touch Flat Panel Screens	\$1.00 Payment to CCSD	\$.00 to \$200.00	\$1.00	\$5.00	\$2.00	\$15.00	\$25.25	\$0.00	\$7.00
9	Interactive Devices – Touch Flat Panel Screens	\$0 Payment or Charge to CCSD	\$.00 to \$25.00	\$0.00	\$0.00	\$0.00	\$2.50	\$5.25	\$0.00	\$0.00
10	iPads/Tablets, Damaged	\$1.00 Payment to CCSD	\$2.00 to \$75.00			\$1.00	\$3.00	\$7.50	\$0.00	\$2.00
11	iPads/Tablets, Intact	\$5.00 Payment to CCSD	\$10.00 to \$250.00	\$3.00	\$15.00	\$25.00	\$25.00	\$45.50	\$5.00	\$40.00
12	Laptop Computer, Damaged	\$2.00 Payment to CCSD	\$.00 to \$30.00	\$1.00	\$7.00	\$4.00	\$15.05	\$15.50	\$10.00	\$20.00
13	Laptop Computer, Missing Internal Parts	\$2.00 Payment to CCSD	\$4.00 to \$50.00	\$1.00	\$12.00	\$10.00	\$8.05	\$27.50	\$10.00	\$15.00
14	Laptop Computer, Operational	\$3.00 Payment to CCSD	\$10.00 to \$450.00	\$10.00	\$36.00	2nd gen \$20.00. 3rd gen \$30.00, 4th gen \$40	Model 3330- \$20.00 Model 5420- \$20.00 Model 5450- \$60.00 Model 5470-\$65.00	\$32.50	\$10.00	\$50.00
15	Laptop Computer, Operational, Blemishes	\$3.00 Payment to CCSD	\$5.00 to 250.00	\$6.00	\$36.00	2nd gen \$20.00. 3rd gen \$30.00, 4th gen \$40	Model 3330- \$20.00 Model 5420- \$20.00 Model 5450- \$60.00 Model 5470- \$65.00	\$22.50	\$10.00	\$40.00
16	Mobile Phones	\$.50 Payment to CCSD	\$2.00 to \$150.00	\$2.00	\$0.00	\$1.00	\$5.00	\$15.00	\$0.00	\$10.00
17	Netbooks	\$2.00 Payment to CCSD	\$.00 to \$75.00	\$3.00	\$5.00	\$4.00	\$8.00	\$18.50	\$0.00	\$10.00
18	Networking Equipment	\$.50 Payment to CCSD	\$.00 to \$1,000.00	\$1.00	\$0.05	\$0.40/lb	\$4.05	\$12.50	\$3.00	\$4.00
19	Printer - Inkjet	\$0 Payment or Charge to CCSD	\$.00 to \$10.00	\$0.00	\$0.00	\$1.00	\$0.50	\$0.00	\$0.00	\$1.00
20	Printer - Laser	\$0 Payment or Charge to CCSD	\$.00 to \$150.00	\$0.00	\$1.00	\$1.00	\$1.50	\$0.00	\$0.00	\$4.00
21	Projector - LCD and others with working bulb	\$0 Payment or Charge to CCSD	\$.00 to \$100.00	\$1.00	\$2.00	\$7.50	\$12.50	\$18.50	\$0.00	\$7.00
22	Projector - LCD and others without working bu	\$0 Payment or Charge to CCSD	\$.00 to 50.00		\$0.00	\$0.00	\$2.00	\$5.50	\$0.00	\$5.00
23	Projector – Non HDMI	\$0 Payment or Charge to CCSD	\$.00 to \$35.00	\$1.00	\$2.00	\$3.00	\$5.00	\$18.50	\$0.00	\$0.00
24	Scanner	\$0 Payment or Charge to CCSD	\$.00 to \$100.00	\$3.00	\$0.00	\$0.50	\$1.00	\$0.00	\$0.00	\$1.00
25	Smartboards, white	\$0 Payment or Charge to CCSD	\$0.00	\$0.00		\$1.00		\$0.00	\$0.00	\$1.00
26	Student Response Units (e.g. remotes)	\$0 Payment or Charge to CCSD	\$.00 to \$35.00	\$0.00	\$0.00	\$0.25		\$5.50	\$0.00	\$1.00
27	Telecommunications Equipment	\$0 Payment or Charge to CCSD	\$.00 to \$850.00	\$1.00	\$0.00	0.40/lb	\$3.00	\$7.50	\$0.00	\$1.00
28	Television - CRT	\$18.00 Charge to CCSD	\$0.00	\$0.00	\$0.00	\$0.00		\$0.00	-\$20.00	\$0.00
29	Television - LCD	\$12.50 Charge to CCSD	\$.00 to \$75.00	\$0.00	\$2.00	\$5.00	\$10.00	\$0.00	\$0.00	\$10.00
30	Television - LED	\$12.50 Charge to CCSD	\$.00 to \$150.00	\$0.00		\$5.00	\$10.00	\$0.00	\$0.00	\$10.00
31	Television - Plasma	\$25.00 Charge to CCSD	\$.00 to \$75.00	\$0.00	\$0.00	\$0.00		\$0.00	\$0.00	\$0.00

	Vendor Terms	Atlanta Recycling Solutions Net 30	CDR Global Inc Net 30	Etowah Computer Sales, Inc. Net 30	Imaan International Inc. Net 30	Novus Solutions LLC Net 30	Premier Surplus, Inc Net 30	Secure Recycling Net 15 days	TBF Computing, Inc. Net 45	Vantage Point ITAD Net 30
Item #	Description of Available Surplus Goods	Revenue to CCSD per unit	Revenue to CCSD per	Revenue to CCSD	Revenue to CCSD	Revenue to CCSD per unit	Revenue to CCSD	Revenue to CCSD per	Revenue to CCSD	Revenue to CCSD
			unit	per unit Other Alte	per unit rnative Revenue	unit	per unit	unit	per unit	per unit
32	Revenue per Pallet	\$0 Payment or Charge to CCSD	\$.00 to \$1,500.00	\$5.00	\$5.00	\$5.00	\$12.50	\$250.50	\$150/electronics \$5.00 empty pallet	\$25.00
33	Revenue per Pound \$0 Payment or Charge to C		\$.00 to \$5.00	\$0.00	\$0.03	\$0.00		\$0.18	\$0.11	\$0.05
				Additional I	Items and Services		-			
34	Per Special Terms and Conditions Section 6.8, provide a fee structure for other items, such as metal, wire, etc. Vendors are to provide the items and identify the fee structure in the space provided.	These will be done at no charge to CCSD	Please refer to pages 7 to 8 under CFR Global Services	0	\$0.03/lb includes: Misc. Metal, Wire, Plastics, etc.	See Below	Metal - \$.03/pound Wire - \$.20/pound	Pay to CCSD \$.25 per lb.	See Below	Metal \$.05 per lb Wire \$.35 per lb Plastic \$.03 per lb
35	Per Special Terms and Conditions, Section 6.9, provide an hourly rate for additional, related services that may be needed during the award period. Please provide any/all rate information.	If the servicess are related to the picking up and recycling of electronics there will be no charge to CCSD	Please refer to page 9 under CFR Global Services	0	\$0.00	N/A	\$17.65/employee /hour	No Charge	See Below	\$15 per hour per employee

Awarded vendor outlined in bold

Additional Items and Fee

Structure:

\$0.32/lb clean mix Wire

\$0.20/lb contaminated mixed wire \$0.40/lb network equipment scrap

\$3.00/lb scrap cell phones

No Charge All Labor, Hourly

No Charge Hard drive wipe No Charge Hard drive shred, if wipe fail Charge \$5/drive, Hard drive shred all No Charge Onsite equipment palletizing No Charge Certificate of Data Destruction No Charge Gaylords and

pallets \$0.05/lb pay for metal

	Vendor	Atlanta Recy	cling Solutions	CDR Global Inc.		Etowah Computer Sales, Inc.		Imaan International Inc.		Novus Solutions LLC		Premier Surplus, Inc.	
Description of Available Surplus Goods	QTY	Revenue to CCSD per unit	Total Revenue to CCSD	Revenue to CCSD per unit	Total Revenue to CCSD	Revenue to CCSD per unit	Total Revenue to CCSD	Revenue to CCSD per unit	Total Revenue to CCSD	Revenue to CCSD per unit	Total Revenue to CCSD	Revenue to CCSD per unit	Total Revenue to CCSD
Pallets	20	\$0.00	\$0.00	\$0.00 to \$1,500.00	\$0.00 to \$30,000.00	\$5.00	\$100.00	\$5.00	\$100.00	\$5.00	\$100.00	\$12.50	\$250.00
Desktop Computer, Operational	125	\$3.00	\$375.00	\$3.00 to \$250.00	\$375.00 to \$31,250.00	\$4.00	\$500.00	\$14.00	\$1,750.00	\$13.50	\$1,687.50	Based on (25 units Model 755) (25 units Model 780) (75 units Model 790)	\$2,128.75
Desktop Computer, Missing Internal Parts	30	\$2.00	\$60.00	\$.50 to \$100.00	\$15.00 to \$3,000.00	\$1.00	\$30.00	\$7.00	\$210.00	\$2.00	\$60.00	\$8.50	\$255.00
Desktop Computer, Damaged	11	\$2.00	\$22.00	\$0.00 to \$20.00	\$1.00 to \$250.00	\$1.00	\$11.00	\$5.00	\$55.00	\$2.00	\$22.00	\$8.50	\$93.50
Laptop Computer, Operational, Blemishes	87	\$3.00	\$261.00	\$5.00 to \$250.00	\$435.00 to \$21,750.00	\$2.00	\$174.00	\$36.00	\$3,132.00	\$40.00	\$3,480.00	Based on (10 units Model 3330) (10 units Model 5420) (47 units Model 5450) (20 Units Model 54700	\$4,520.00
Laptop Computer, Damaged	79	\$2.00	\$158.00	\$0.00 to \$30.00	\$0.00 to \$2,370.00	\$1.00	\$79.00	\$7.00	\$553.00	\$4.00	\$316.00	\$15.05	\$1,188.95
Netbooks	107	\$2.00	\$214.00	\$0.00 to \$75.00	\$0.00 to \$8,025.00	\$2.00	\$214.00	\$5.00	\$535.00	\$4.00	\$428.00	\$8.00	\$856.00
Computer Monitor, LCD	100	\$0.75	\$75.00	\$0.00 to \$25.00	\$0.00 to \$2,500.00	\$1.00	\$100.00	\$3.00	\$300.00	\$2.00	\$200.00	\$4.50	\$450.00
Printer - Inkjet	1	\$0.00	\$0.00	\$0.00 to \$10.00	\$0.00 to \$10.00	\$0.00	\$0.00	\$0.00	\$0.00	\$1.00	\$1.00	\$0.50	\$0.50
Printer - Laser	11	\$0.00	\$0.00	\$0.00 to \$150.00	\$0.00 to \$1,650.00	\$0.00	\$0.00	\$1.00	\$11.00	\$1.00	\$11.00	\$1.50	\$16.50
Scanner	3	\$0.00	\$0.00	\$0.00 to \$100.00	\$0.00 to \$300.00	\$3.00	\$9.00	\$0.00	\$0.00	\$0.50	\$1.50	\$1.00	\$3.00
iPads/Tablets, Damaged	2	\$1.00	\$2.00	\$10.00 to \$250.00	\$20.00 to \$500.00	\$1.00	\$2.00	\$5.00	\$10.00	\$3.00	\$6.00	\$3.00	\$6.00
Projectors (non HDMI)	9	\$0.00	\$0.00	\$0.00 to \$35.00	\$0.00 to \$315.00	\$1.00	\$9.00	\$2.00	\$18.00	\$3.00	\$27.00	\$5.00	\$45.00
Smartboards	4	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$1.00	\$4.00	\$0.00	\$0.00
Student Response Units (e.g. remotes)	154	\$0.00	\$0.00	\$0.00 to \$35.00	\$0.00 to \$5,390.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.25	\$38.50	\$0.00	\$0.00
Grand Total Revenue to CCSD			\$1,167.00		\$846.00 to \$107,310.00		\$1,228.00		\$6,674.00		\$6,382.50		\$9,813.20

Awarded total revenue to CCSD highlighted in yellow

Green Highlighted - vendor did not meet specifications

	Vendor	Secure R	ecycling	TBF Comp	uting, Inc.	Vantage Point ITAD			
Description of Available Surplus Goods	QTY	Revenue to CCSD per unit	Total Revenue to CCSD	Revenue to CCSD per unit	Total Revenue to CCSD	Revenue to CCSD per unit	Total Revenue to CCSD		
Pallets	20	\$250.50	\$5,010.00	\$5.00	\$100.00	\$25.00	\$500.00		
Desktop Computer, Operational	125	\$18.25	\$2,281.25	\$16.00	\$2,000.00	\$17.00	\$2,125.00		
Desktop Computer, Missing Internal Parts	30	\$12.00	\$360.00	\$7.00	\$210.00	\$5.00	\$150.00		
Desktop Computer, Damaged	11	\$12.00	\$132.00	\$6.00	\$66.00	\$5.00	\$55.00		
Laptop Computer, Operational, Blemishes	87	\$22.50	\$1,957.50	\$10.00	\$870.00	\$40.00	\$3,480.00		
Laptop Computer, Damaged	79	\$15.50	\$1,224.50	\$10.00	\$790.00	\$20.00	\$1,580.00		
Netbooks	107	\$18.50	\$1,979.50	\$0.00	\$0.00	\$10.00	\$1,070.00		
Computer Monitor, LCD	100	\$4.50	\$450.00	\$2.00	\$200.00	\$7.00	\$700.00		
Printer - Inkjet	1	\$0.00	\$0.00	\$0.00	\$0.00	\$1.00	\$1.00		
Printer - Laser	11	\$0.00	\$0.00	\$0.00	\$0.00	\$4.00	\$44.00		
Scanner	3	\$0.00	\$0.00	\$0.00	\$0.00	\$1.00	\$3.00		
iPads/Tablets, Damaged	2	\$7.50	\$15.00	\$0.00	\$0.00	\$2.00	\$4.00		
Projectors (non HDMI)	9	\$18.50	\$166.50	\$0.00	\$0.00	\$0.00	\$0.00		
Smartboards	4	\$0.00	\$0.00	\$0.00	\$0.00	\$1.00	\$4.00		
Student Response Units (e.g. remotes)	154	\$5.50	\$847.00	\$0.00	\$0.00	\$1.00	\$154.00		
Grand Total Revenue	e to CCSD		\$14, 423.25		\$4,236.00		\$9,870.00		

Awarded total revenue to CCSD highlighter

Green Highlighted - vendor did not meet s